
 

Discussion Note

Induction

Ncntb
Ex I Prove that we have H2 1 in a

for all positive integers n
Proof we will prove by induction
Base steps For n I we have

f HH

1 1

Induction step For nik we assume
1 12 1 1k k 111

We will prove the statement for nitti we have
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Ex 2 Prove that we have
12 t HE n l n11112hm

b for all positive integers n
Proof For a I we have

Basestep 12 4114444
I L

Induction step For a k we assume
14 t k K KH 2K117 6



I l l Il l l l l 1 16
For n Ktl we have
14 t 1ktIT CH f K 1 Http

KIK11112k111 6 t KH
KIK11 2141 16 K1112
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Ex 3 Prove that we have
It 315171 it 12h Il n for all positive integers n

Proof
Base step For a I we have

2I I 12
1 1

Induction step For n k we assume

HH 14K1 K2

For n K Il we have
HH t 244111 It 16kt It

k't 12kt l

Calif

Induction
1 Prove for A I
2 Assume the statement for A K



su s e en l for I

3 Prove for nele11

K 4k 4k 11 14k 413
4K 4k't k Ifk 11114 k't 4kt l

81h3 18K 12k
4k t 4kt I

81h3 112k 16ktI
41h4 14k t 13K 16kt I
2kt K t I


